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To establish it as an obligation, and even according to Rabi Yehoshua

Overview

The %13 negated a proof that an SR 15217 ¥"Y is 2°217P2 PR, because we can
say that the Xn»92 which states that the P05 of 31 72183 "3 ¥R 9221 is including
(2°n2 and) ¥"v is referring to an *121% 75117 ¥"Y, and even though that regarding an
"321% 0177 3"V the 77N clearly states 12983 1717 12 IR 1717 X, nevertheless we require
the 109 of ¥R 9921 to establish it as a 7712117 for the 0°217p to redeem this 037 "V
"51%. The X3 concludes that this is true even according to Yy .
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>'"'w9 explained this to mean that and even according to >''% who maintains
regarding a 7R 77w that it is optional for the 0°217p to redeem the MR 77w,

however here regarding an >731% 75137 3"y he admits to X" that it is obligatory
for the relatives to redeem him -

= £52995 Y72I¥N 122 YNV XYY 9N %5
In order that he should not be assimilated amongst the gentiles —

mooIn responds to an anticipated question:2
- >N3%39 NYNN2 2193 NY NNT 992 INMI MIYPNY 7Y XY NI

And here it is not applicable to ask, why do we need the word "™23', as we asked
previously, since the rules of »121% 70n371 ¥"Y, were not written in that 72=s!

mooIn asks:
- YVINY %295 NY IPINT 112 YNIPN SNV 13%249 290 nYPN IN

!Ny 712,

% The R previously (on the '® 77¥) asked that according to X" that the P09 of YR 1NN 79I DINNAR PR 9327 is
coming 727 Ww2PY 0°%n °na M2, why do we need the 52" [We know that 03217 °n2 are 0°217p2 X3 because the
7N writes by them 2wn> yoRa 77w 9y, that they are similar to 7K 77w, and by Annx 77w it is clearly stated that it is
0°217P2 92X, we only need the 109 of "3 ¥R 2221 in order 721 Wwaph, for that purpose the P10 is sufficient, we do
not need the extra word "252'.] The same question should apply here; we know that an >3317 19137 3"V is 021722 7R3;
it says so explicitly in the 7710, we only need to derive that it is a 7217 for them to redeem him, for that purpose the
109 of "3 2oNTINR IR (792)) is sufficient; why do we need the extra 327 n19oIN responds to this question.

* When we are discussing 7277 w217 by X" 797 and 2%771 °na which are written immediately after the p108 of %223
31 DONNMINR POR, the question of 732 %X is understood, for we assume that the 109 of DONTINR YAR 9271 is referencing
TnR 77w (and 229807 °n3) so I know from the extra 7100 that it is teaching us 71217 Waph, by "W, etc.; we do not
need the extra word 952. However regarding an *1317 1937 ¥"v which is not written in the 7w1' of DonMAR PR 93
(but later on), if it would not say 732", we would not know that this 7211 WwapY is referencing an >331% 25237 ¥'"y,
therefore we need an extra 127 of 932 to teach us that the 7237 Ww2pY applies (even) to an *131% 29117 V"V,
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However, "x1p» 981w 2''77 asked; since we are establishing *the xn>> 2 like >'' -
- Sqaba 993y aya KON N2IN 1WAIPY STH RY TN Yy

Perforce the 727 of 7127 ¥12p% applies only to ¥''w, but not to 1 *w °na -
- MY DANDNN YIN 9937 $3597 PN 19 ON)

So therefore the addition derived from anmnR 98 ¥53 regarding 777 *v °na and

v"y are not the same -
- 71930 N29% NN $9aY 1aY PIYYI CHaIN MIAD 12910 PR AN 29Y 3N 1YY 191Y

For regarding n''va the 105 is not including 7727 nwwe2p, but regarding »''y the

P09 is including 727 -
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Therefore the 813 should have answered that ¥'"v) 2°n2 in the Xn*12 refers to N2

2'"12p% 922357 ¥''PY 2937573 and even though we already know by these two that they are X3

2°217p32, nevertheless the 109 of 77183 902 -
£V 9299 M1 INY ITWIIN 13999 19°HYa NN 1”:1‘,751

Comes to establish 0°217p N3 as an obligation in both these cases as N''-

maintains, and then the %12°9 would be the same by both v"v1 213177 °*na! Mmoon does
not answer this question.

Summary
It is more appropriate that when there is one ™12 for two items that the *12°7 should

be the same for both of them.

Thinking it over
The X773 here never said that o°na refer to n"va (in fact previously the Xana

concluded that it can refer to 0% °n2); all the X713 answered here is the ¥"V is
referring to a >121% 1211 (and 2°N2 remains as 0°7%77 °N2); the X3 merely adds that
regarding ¥"¥, even *"1 agrees 7297 Wwaph. What is mpoin question?!®

* This is referring to the X072 on X,X> which states, '¥"¥1 2°n2 M27% 1IN 723 "3 932", According to X" the word
o°na (in this ®n>*2) refers to 0¥ *na (where we already know that it is 02172 7X33) and the 109 of 72X 201 is
72w wapY (for o13nn °na). [However, according to *"9, the 0°n3 in the X012 is referring to 1 >3 °n2 that they are
0°279P2 PR (but not 7231 Ww31apY).] The R is now saying that the words ¥"¥ (in the Xn>»12) refer to an 1317 20217 ¥y
(where we already know that he is 021772 5Xa1) and the 109 of 131 79IK3 932 teaches us 7217 Wap? even according to .
® By ™M21% 12017 ¥"v the 70 explicitly states that he is 2°217P2 2X31. See footnote # 4.

% By min 7y °n2a the 770 does not mention that it is 222172 X3 therefore the 127 of "3 7913 22 can only include
that it may be 0°211p2 2831 (which is a sufficient w17°m), but it cannot teach us (also) that it is a 7217, Additionally the
reason of ynw> X2 (which applies to *121% 15137 ¥"v) does not apply to 1'"va.

7 See footnote # 4 & 5 that by ¥"v where we already know that 22172 X33, the 72IX3 92 109 adds 727 Wap>.

¥ See (prawrixn 1217 070 "9) o0 MW,
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